
Let A be a monoid and B a submonoid. The element a ∈ A omits B if for all
b ∈ B and u, v ∈ A,

ubv = a =⇒ b = 1,

and the submonoid C omits B if c omits B for all c ∈ C.
Let A be a monoid and B,C submonoids, and suppose that for all a ∈ A, a omits

B whenever a omits C. We say that B is absolutely continuous with respect to
C and write B � C[1].

Exercise. Let A be a monoid and B,C ≤ A. Prove that if B ≤ C, then B � C.

Exercise. Find a monoid A and submonoids B,C ≤ A such that B 6≤ C and
B � C. (Hint: Let A = 〈x, y : xy = x〉.)
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